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1. The Mathura refinery smoke is thought to reduce the shine of Taj Mahal by : 

 (A) Acid rain (B) Sewage pollution 

 (C) Industrial pollution (D) Sound pollution 
 eFkqjk fjQkbujh dk /kqvk¡ rktegy dh ped d¨ de dj jgk gS % 
 (A) vEyh; o"kkZ }kjk (B) ey Ánw"k.k }kjk 
 (C) v©|¨fxd Ánw"k.k }kjk (D) /ofu Ánw"k.k }kjk 

 

2. Which is a conventional source of energy ? 

 (A) Wind energy (B) Solar energy 

 (C) Hydel energy (D) Natural gas 
 fuEu esa d©u ÅtkZ dk ikjEifjd Lkz¨r gS \   

 (A) iou ÅtkZ (B) l©j ÅtkZ 
 (C) ty ÅtkZ (D) ÁkÑfrd xSl  

 
3. Cold desert in India occurs at : 

 (A) Thar (B) Assam 

 (C) Rajasthan (D) Ladakh 
 BaMs e#LFky Òkjr esa ik;s tkrs gSa % 

 (A) Fkkj esa (B) vle esa 
 (C) jktLFkku esa (D) yn~nk[k esa 

 
4. Flora is a term for : 

 (A) Plants (B) Viruses 

 (C) Animals (D) Microbes 
 ¶y®jk 'kCn gS % 
 (A) i©/k®a ds fy, (B) fo"kk.kqv®a ds fy, 

 (C) tUrqv®a ds fy, (D) lw{etho®a ds fy, 

 

5 Which one is not a pollutant ? 

 (A) Sulphur dioxide (B) Lead 

 (C) Mercury (D) Iodine 

 fuEu esa d©u&lk Ánw"kd ugha gS % 
 (A) lYQj MkÃ vkWDlkbM (B) Lkhlk 
 (C) Ikkjk (D) vk;¨Mhu 

 
6. Coolant which is commonly used in freezing out samples at – 183

0
C is : 

 (A) Liquid oxygen (B) Liquid nitrogen 

 (C) Liquid oil (D) Liquid water 

 lSEiy¨a d¨ & 183
0 
lsUVhxzsM rd tekus esa d©u lk 'khryd Á;qDr g¨rk gS \ 

 (A) tyh; vkWDlhtu (B) nzo u=tu 
 (C) nzo rsy (D) nzo ty 



3 
 

FES(B)-10 
2017 

 
7. High amount of E. coli in water is an indicator of : 

 (A) Hardness of water (B) Chlorine in water 

 (C) Softness of water (D) Water pollution 
 ikuh esa Ã- d¨ykÃ dh vf/kd ek=k lwpd gS % 

 (A) ikuh dh dB¨jrk (B) ikuh esa Dy¨jhu 
 (C) Ikkuh dh d¨eyrk (D) Ánwf"kr ikuh 

 

8. AIDS virus has : 

 (A) RNA and proteins (B) Both DNA and RNA 

 (C) DNA and Proteins (D) Only RNA 
 ,M~l fo"kk.kq esa g¨rk gS % 
 (A) vkj0 ,u0 ,0 ,oa Á¨Vhu (B) Mh0 ,u0 ,0 ,oa vkj0 ,u0 ,0 n¨u ä 
 (C) Mh0 ,u0 ,0 ,oa Á¨Vhu (D) dsoy vkj0 ,u0 ,0 

 
9. Which one is not an endangered animal ? 

 (A) Gorilla (B) Chimpanzee 

 (C) Red panda (D) Dodo 
 fuEu eas ls d©ulk tUrq foyqfIr dh v¨j ugha gS \ 
 (A) x¨fjYyk (B) fpEikath 
 (C) jsM ikUMk (D) M¨M¨ 

 
10. Ozone layer is affected by : 

 (A) CO2 (B) CFC 

 (C) PHN (D) Methane 
 v¨t¨u ijr ÁÒkfor g¨rh gS%  

 (A) dkcZu MkÃ vkWDlkbM ls (B) lh0,Q0lh0 ls 
 (C) ih0,p0,u0 ls (D) ehFksu ls 

 
11. In grass → insects → frog → snake, the frog is : 

 (A) Secondary consumer (B) Primary consumer 

 (C) Secondary producer (D) Both (A) and (C) 
 ?kkl  → dhV →  esa<d →lk¡i esasa ]esa<d gS % 
 (A) f}rh;d miÒ¨Drk (B) ÁFke miÒ¨Drk 
 (C) f}rh;d mRiknd (D) n¨u ä  (A) v©j (C) 

 
12. In an ecosystem the decomposers are : 

 (A) Algae and bacteria (B) Bacteria and fungi 

 (C) Microorganisms and viruses (D) Both (B) and (C) 
 ikfjfLFkfrd rU= esa vi?kVd g¨rs gSa % 
 (A) 'kSoky ,oa thok.kq (B) thok.kq ,oa dod  
 (C) lw{e&tho ,oa fo"kk.kq (D) n¨u ä  (B) v©j (C) 
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13. The atmospheric UV radiations are absorbed in the zone called : 

 (A) Thermosphere (B) Stratosphere 

 (C) Mesosphere (D) Troposphere 

 Okkrkoj.kh; ijkcSaxuh fofdj.k dk vo'k¨"k.k Òkx dgykrk gS % 
 (A) Fke Z̈LQs;j (B) LVªsV®LQs;j 

 (C) eht¨LQs;j (D) Vª®i®LQs;j 

 

14. Scientific study of human population is called : 

 (A) Eugenics (B) Biogeography 

 (C) Topography (D) Biography 

 ekuo tula[;k ds oSKkfud v/;;u d® dgrs gSa % 
 (A) ;wtsfuDl (B) ck;¨ft;®xzkQh 

 (C) V¨i®xzkQh (D) ck;¨xzkQh 

 
15. Carbon monoxide gas is chemically inert and ............... . 

 (A) Tasteless (B) Colourless 

 (C) Odourless (D) All of these 

 dkcZu e¨u¨ vkWDlkbM jklk;fud :i ls fuf"Ø; v©j ------------- xSl gSA 
 (A) Loknghu (B) jaxghu 

 (C) lqxU/kghu (D) ;s lÒh 

 

16. In India the maximum biodiversity is found in : 

 (A) Western ghats (B) North-Eastern region 

 (C) Eastern ghats (D) North – Western region 
 Òkjro"kZ esa vf/kdre tSofofo/krk ik;h tkrh gS % 
 (A) if'pe rV (B) mRrj&iwoZ {ks= 
 (C) iwohZ rV (D) mRrj&if'pe {ks= 

 
17. Which one of the following has lowest biodiversity ? 

 (A) Desert (B) Ocean 

 (C) Lake (D) River 
 fuEu esa ls fdlesa lcls de tSo fofo/krk gS \ 
 (A) jsfxLrku  (B) leqnz esa 
 (C) rkykc esa (D) unh esa 

 
18. Tobacco opposition day is on : 

 (A) 5 May (B) 6 July 

 (C) 31 May (D) 20 October 
 rEckdw foj¨/k fnol gS % 
 (A) 5 eÃ d¨ (B) 6 tqykÃ d¨ 
 (C) 31 eÃ d¨ (D) 20 vDVwcj d¨  
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19. The concept of ecological pyramid was developed by : 

 (A) Reiter (B) Elton 

 (C) Odum (D) Darwin 
 ikfjfLFkfrd fijkfeM dh ladYiuk fodflr dh Fkh % 
 (A) jk;Vj us (B) ,YVu us  
 (C) v¨Me us (D) MkfoZu us 

 

20. Biodiversity is conserved through : 

 (A) National Parks and Zoo (B) Botanical Gardens 

 (C) Wildlife Sanctuary (D) All of these 
 tSofofo/krk dk laj{k.k fd;k tkrk gS % 

 (A) jk"Vªh; m|ku ,oa fpfM+;k?kj esa (B) okuLifrd m|ku esa 
 (C) oU;tho vH;kj.k esa (D) mDr lÒh esa 

 
21. ‘Bombay High’ is associated with : 

 (A) Solar energy (B) Petroleum 

 (C) Hydroelectricity (D) Water sports 
 ^ckEcs gkÃ^ lEcfU/kr gS % 
 (A) l©j ÅtkZ ls (B) isVª̈ fy;e ls 
 (C) tyfo|qr ls (D) tyØhM+k ls 

 
22. Ozone hole formation is maximum over : 

 (A) Arctic (B) Europe 

 (C) Antarctica (D) Asia 
 lokZf/kd v¨tu fNnz fuekZ.k gS % 
 (A) vkdZfVd esa (B) ;wj®i esa 
 (C) vaVkdZfVdk esa (D) ,f'k;k esa 

 
23. Gir National Park is famous for : 

 (A) Tiger (B) Musk deer 

 (C) Panther (D) Asiatic Lion 

 fxj jk"Vªh; m|ku Áfl) gS % 
 (A) ck?k ds fy, (B) dLrwjh e`x ds fy, 
 (C) rsanqvk ds fy, (D) ,f'k;u 'ksj ds fy, 

 
24. Renewable  resources are : 

 (A) Water, soil and forest (B) Natural gas, water  and forest 

 (C) Mineral, soil, water (D) Forest, coal and minerals 

 uohuhdj.k lalk/ku gSa % 

 (A) ty] feV~Vh ,oa ou (B) ÁkÑfrd xSl] ty ,oa ou 
 (C) [kfut] feV~Vh ,oa ty (D) ou] d¨;yk ,oa [kfut 
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25. Wildlife Protection Act was enacted in : 

 (A) 1927 (B) 1973 

 (C) 1972 (D) 1952 
 oU;tho laj{k.k vf/kfu;e ykxw gqvk % 
 (A) 1927 esa (B) 1973 esa 

 (C) 1972 esa (D) 1952 esa 

 

26. 

 

The Water (Prevention and Control of Pollution) Act was enacted in : 

 (A) 1971 (B) 1991 

 (C) 1974 (D) 1982 
 ty ¼fuokj.k ,oa Ánw"k.k fu;U=.k½ vf/kfu;e ykxw gqvk % 

 (A) 1971 esa (B) 1991 esa 

 (C) 1974 esa (D) 1982 esa 

 

27. 

 

Maximum forest cover is found in the state : 

 (A) Arunachal Pradesh (B) Uttar Pradesh 

 (C) Madhya Pradesh (D) Andhra Pradesh 
 lokZf/kd oukPNkfnr jkT; gS % 

 (A) v#.kkpy Áns'k (B) mRrj Áns'k 
 (C) e/; Áns'k (D) vkU/kz Áns'k 

 
28. Richest biodiversity occurs in : 

 (A) Argentina (B) Mexico 

 (C) Brazil (D) South Africa 
 loZf/kd tSofofo/krk ik;h tkrh gS % 
 (A) vtZufVuk esa (B) eSfDld¨ esa 
 (C) czkthy esa (D) nf{k.k vQzhdk esa 

 
29. Interlinking of more than one food chains is called : 

 (A) Food groups (B) Trophic level 

 (C) Food chains (D) Food web 

 ,d ls vf/kd [kk| Ük`a[kyk ds ijLij lEc) g¨us d¨ dgrs gSa % 
 (A) [kk| lewg (B) i¨"k.k Lrj 
 (C) [kk| Ükà[kyk (D) [kk| tky 

 
30. The mean temperature of Earth is approximately : 

 (A) 10
0
C (B) 16

0
C 

 (C) 5
0
C (D) 20

0
C 

 i`Foh dk v©lr vuqekfur rkiØe gS % 
 (A) 10

0
C (B) 16

0
C 

 (C) 5
0
C (D) 20

0
C 
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31. The book ‘Principles of Population’ was written by : 

 (A) John Cook (B) Robert Hooke 

 (C) Charles Darwin (D) T. Robert Malthus 
 fdrkc ^ tula[;k dk fl)kUr ^ fy[kh x;h Fkh % 
 (A) tku dqd ds }kjk (B) jkWcVZ gqd ds }kjk 

 (C) pkYlZ MkfoZu ds }kj (D) Vh0 jkWcVZ ekYFkl ds }kjk 

 

32. A disease borne from polluted water is : 

 (A) Dengue (B) Jaundice 

 (C) Malaria (D) Typhoid 
 Ánwf"kr ty esa ls tfur chekjh gS % 
 (A) MSaxw (B) ihfy;k 
 (C) eysfj;k (D) VkbQkbM 

 
33. The pyramid of number is inverted in : 

 (A) Forest (B) Grassland 

 (C) Pond (D) None of these 
 la[;k dk fijkfeM mYVk g¨rk gS % 
 (A) taxy esa (B) ?kkl ds eSnku esa 
 (C) Rkkykc esa (D) mDr esa ls d¨Ã ugha 

 
34. Biodiversity means : 

 (A) Genetical diversity (B) Species diversity 

 (C) Ecosystem diversity (D) All of these 

 tSo fofo/krk dk rkRi;Z gS % 
 (A) vkuqoaf'kd fofo/krk (B) Átkfr fofo/krk 
 (C) ikfjfLFkfrdh ra= fofo/krk (D) mDr lÒh 

 
35. The sphere of living matter together with water, air and soil on earth is called : 

 (A) Atmosphere (B) Lithosphere 

 (C) Hydrosphere (D) biosphere 

 i`Foh ij fLFkr tho¨a] ty] ok;q v©j e`nk ls ;qDr e.My dgykrk gS % 
 (A) ok;qe.My (B) f'kyke.My 
 (C) tye.My (D) tSoe.My 

 
36. One of the living fossil is : 

 (A) Taxus baccata (B) Ginkgo bioloba 

 (C) Abies pindrow (D) Juniperus species 

 ,d thfor thok'e gS % 
 (A) VsDll cdkVk (B) ftad¨ ckby®ck 
 (C) ,oht+ fiUMª¨ (D) twfuisjl Átkfr 
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37. High growth rate of human population  is called : 

 (A) Growing population (B) Natality 

 (C) Overpopulation (D) Population explosion 
 ekuo tula[;k dk rhozrk ls c<+uk dgykrk gS % 
 (A) c<+rh gqÃ tula[;k (B) uSVfyVh 
 (C) vR;f/kd tula[;k (D) tula[;k foLQ¨V 
 

38. 

 

‘Minamata disaster’ in Japan was caused by pollution due to : 

 (A) Earthquake (B) Mercury poisoning 

 (C) Cadmium (D) Nuclear pollution 
 tkiku esa ^feukekrk vkink^ fdlds Ánw"k.k ds dkj.k gqÃ Fkh % 
 (A) ÒwdEi ds (B) ikjk ds tgj ls 

 (C) dSMfe;e ds (D) ukfÒdh; Ánw"k.k ds 
 

39. Ten percent energy transfer law in a food chain was proposed by : 

 (A) Lindemann (B) Elton 

 (C) Tansley (D) Hertig 
 [kk| Ükà[kyk esa nl Áfr'kr ÅtkZ vUrj.k dk fu;e Áfrikfnr fd;k Fkk % 

 (A) fy.MeSu us (B) ,YVu us 
 (C) VSUlys us (D) gfVZt+ us 

 
40. In visible light, white light breaks into seven different colours : 

 (A) VBIGYOR (B) VIGBYOR 

 (C) VIBGYRO (D) VIBGYOR 

 n`f"Vx¨pj Ádk'k esa] lQsn Ádk'k lkr fofÒUu jax®a esa fc[kjus dk Øe gS % 

 (A) VBIGYOR (B) VIGBYOR 

 (C) VIBGYRO (D) VIBGYOR 

 

41. In nitrogen cycle, soil nitrates are transformed into free nitrogen by : 

 (A) Nitrifying bacteria (B) Denitrifying bacteria 

 (C) Ammonifying bacteria (D) Both (A) and (C) 

 u=tu pØ esa] e`nk ukbVªsV dk Lora= u=tu esa ifjorZu g¨rk gS % 
 (A) ukbfVªQkbax cSfDVfj;k ds }kjk (B) Mh-ukbfVªQkbax cSfDVfj;k ds }kjk 
 (C) ve¨fuQkbax cSfDVfj;k ds }kjk (D) (A) v©j (C)n¨u¨a ds }kjk 

 
42. The most stable ecosystem is : 

 (A) Forest (B) Desert 

 (C) Mountain (D) Ocean 
 lokZf/kd LFkk;h ikfjfLFkfrdh rU= gS % 
 (A) Oku (B) jsfxLrku 
 (C) ioZr (D) Ekgklkxj 
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43. The first of the major Environmental Protection Act to be promulgated in India was : 

 (A) Water Act (B) Environmental Act 

 (C) Air Act (D) Noise Pollution Act 
 i;kZoj.k laj{k.k vf/kfu;e¨a ds vUrZxr] v©ipkfjd :i ls Òkjr dk loZÁFke vf/kfu;e Fkk % 
 (A) ty vf/kfu;e (B) i;kZoj.k vf/kfu;e 
 (C) ok;q vf/kfu;e (D) /ofu Ánw"k.k vf/kfu;e 

 
44. Human malaria is transmitted by : 

 (A) Anopheles male (B) Anopheles female 

 (C) Culex male  (D) Culex female 
 ekuo eysfj;k QSyrk gS % 
 (A) uj ,sukfQfyt ls (B) eknk ,sukfQfyt ls 
 (C) uj D;wySDl ls (D) eknk D;wySDl ls 

 
45. Maximum permissible noise as per noise pollution rules 2000 is : 

 (A) 75 dB (B) 65 dB 

 (C) 55 dB (D) 45 dB 
 /ofu Ánw"k.k fu;e 2000 ds vuqlkj vR;f/kd LohÑr /ofu Lrj gS % 
 (A) 75 dB (B) 65 dB 

 (C) 55 dB (D) 45 dB 

 

46. Frequency of sound is measured in : 

 (A) metres (B) hertz 

 (C) km (D) moles 

 /ofu vko`fÙk ekih tkrh gS % 
 (A) ehVj esa (B) gV~Zt+ esa 

 (C) fdy¨ehVj esa (D) e¨y esa 

 
47. In the atmosphere,  the layer above the stratosphere is : 

 (A) Troposphere (B) Mesosphere 

 (C) Thermosphere (D) Exosphere 

 okrkoj.k esa] LVªV¨LQsvj ds Åij dh ijr gS % 
 (A) Vª®i®LQsvj  (B) eht¨LQsvj 

 (C) Fke Z̈LQsvj (D) ,sDl¨LQsvj 

 
48. Chernobyl tragedy took place where and when ? 

 (A) Ukrain, 1990 (B) Ukrain, 1988 

 (C) Ukrain, 1986 (D) Ukrain, 1983 
 psju¨fcy =klnh gqÃ Fkh dgk¡ v©j dc \ 
 (A) ;wØsu] 1990 esa (B) ;wØsu] 1988 esa 
 (C) ;wØsu] 1986 esa (D) ;wØsu] 1983 esa 
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49. Industries generating hazardous waste are classified as : 

 (A) brown (B) green 

 (C) yellow (D) red 
 [krjukd dw+M+k&djdV mRiUu djus okys m|¨x oxhZÑr gSa tSls % 

 (A) Òwjs Js.kh (B) gjs Js.kh 
 (C) ihyh Js.kh (D) yky Js.kh 

 
50. The interior most layer of the earth is known as : 

 (A) Core (B) Mantle 

 (C) Crust (D) None of these 
 i`Foh dh vkUrfjd lajpuk esa vR;f/kd Òhrjh ijr dgykrh gS % 
 (A) d¨j (B) eSUVy 
 (C) ØLV (D) mDr esa ls d¨Ã ugha 

 
51. The most dangerous radioactive air pollutant is : 

 (A) Ca-40 (B) Thermal 

 (C) Sr-90 (D) Soil 

 lokZf/kd [krjukd jsfM;®,sfDVo ok;q Ánw"kd gS % 
 (A) Ca-40 (B) rkih; 
 (C) Sr-90 (D) e`nk 

 
52. First UN conference on Environment was held in : 

 (A) Johannesburg (B) Montreal 

 (C) Stockholm (D) None of these 

 i;kZoj.k ij igyk la;qDr jk"Vª lEesyu vk;¨ftr fd;k x;k % 
 (A) t¨gkUlcxZ (B) ekafVª;y 

 (C) LVkdg¨e (D) mDr esa ls d¨Ã ugha 

 
53. Light energy is converted into chemical energy by : 

 (A) Electrolysis (B) Photosynthesis 

 (C) Respiration (D) Transpiration 

 Ádk'k ÅtkZ dk jklk;fud ÅtkZ esa :ikUrj.k fuEuor~ g¨rk gS % 
 (A) bysDVª®ykbfll }kjk (B) Ádk'k la'ys"k.k }kjk 
 (C) 'olu }kjk (D) mRLosnu }kjk 

 
54. Which amongst the following is a primary consumer ? 

 (A) Bacteria (B) Goat 

 (C) Tiger (D) Vulture 
 buesa ls d©u ÁkFkfed miÒ¨Drk gS \ 
 (A) fo"kk.kq (B) cdjh 
 (C) phrk (D) fx) 
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55. The Air (Prevention and Control of Pollution ) Act was enacted in :  

 (A) 1971 (B) 1991 

 (C) 1981 (D) 1982 
 ok;q ¼fuokj.k ,oa Ánw"k.k fu;U=.k½ vf/kfu;e ykxw gqvk % 

 (A) 1971 esa (B) 1991 esa 
 (C) 1981 esa (D) 1982 esa 

 

56. India’s population grew from 361 to 685 million in : 

 (A) 1901-1951 (B) 1951-1971 

 (C) 1951-1981 (D) 1981-2000 
 Òkjr dh tula[;k o`f) 361 ls 685 fefy;u gqÃ % 
 (A) 1901-1951 ds chp (B) 1951-1971 ds chp 
 (C) 1951-1981 ds chp (D) 1981-2000 ds chp 

 

57. The major reservoir of carbon (carbon dioxide) is : 

 (A) The ocean beds (B) The atmosphere 

 (C) Plant and animals (D) Rocks 
 dkcZu ¼dkcZu MkÃ vkWDlkbM½ ds Áeq[; fjtokZ;j gSa % 
 (A) leqnz ry (B) okrkoj.k 
 (C) i©/ks ,oa tUrq (D) pV~Vkusa 

 
58. Chernobyl disaster occurred due to : 

 (A) Nuclear reactor explosion (B) Poisonous gas leakage 

 (C) Forest fire (D) Earthquake 

 pju¨fcy nq?kZVuk dk dkj.k Fkk % 
 (A) ijek.kq la;a= foLQ¨V (B) tgjhyh xSl dk fjlko 
 (C) taxy dh vkx (D) ÒwdEi 

 
59. The wind speed is measured by an instrument called : 

 (A) Psychrometer (B) Speedometer 

 (C) Anemometer (D) None of these 

 ok;q dh rhozrk ekius ds midj.k d¨ dgrs gSa % 
 (A) lkbØ¨ehVj (B) LihM¨ehVj 
 (C) ,uhe¨ehVj (D) buesasa ls d¨Ã ugha 

 
60. Burning of fossil fuels is main source of pollution : 

 (A) Nitrogen oxide (B) Nitric oxide 

 (C) Nitrous oxide (D) Sulphur dioxide 

 thok'e Ãa/ku tyus ij Ánw"k.k dk Áeq[; Lkz¨r gS % 
 (A) ukbVª®tu vkDlkbM (B) ukbfVªd vkWDlkbM 
 (C) ukbVªl vkDlkbM (D) lYQj MkbvkWDlkbM 
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61. Acidity in rain is measured by : 

 (A) Barometer (B) pH meter 

 (C) Hygrometer (D) None of these 
 o"kkZ ty dh vEyh;rk ekih tkrh gS % 

 (A) cSj¨ehVj }kjk (B) ih0,p0ehVj }kjk 
 (C) gkbxz¨ehVj }kjk (D) mDr esa ls d¨Ã ugha 

 
62. Radioactive element which has been found to have large reserves in India is : 

 (A) Plutonium (B) Radium 

 (C) Thorium (D) Uranium 
 ,d jsfM;¨ /kehZ rRo ftlds Òkjr o"kZ esa cM+s Ò.Mkj ik;s tkrs gSa % 
 (A) IywV®fu;e (B) jsfM;e 
 (C) Fk®fj;e (D) ;wjsfu;e 

 
63. Biological Oxygen Demand (BOD) measures :   

 (A) Air pollution (B) Dissolved oxygen needed by microbes 

 (C) Industrial pollution (D) Soil pollution 
 tSfod vkDlhtu vko';drk ¼ch0v¨0Mh0½ Kkr djkrh gS %  
 (A) ok;q Ánw"k.k (B) ?kqyh vkWDlhtu lw{e tho ä gsrq 
 (C) v©|¨fxd Ánw"k.k (D) e`nk Ánw"k.k 

 
64. Government sponsored ‘Family Planning Programme’ was started in : 

 (A) 1947 (B) 1952 

 (C) 1955 (D) 1975 
 Òkjr ljdkj }kjk Ák;¨ftr ^ifjokj fu;¨tu dk;ZØe^ ÁkjEÒ gqvk Fkk % 
 (A) 1947 esa (B) 1952 esa 

 (C) 1955 esa (D) 1975 esa 

 

65. The world’s demand for electricity has doubled over the last : 

 (A) 10 years (B) 15 years 

 (C) 22 years (D) 24 years 

 fo'o dh fo|qr ek¡x fiNys ++++-------------lky ä esa n¨xquh g¨ x;h gSA 
 (A) 10 lky (B) 15 lky 

 (C) 22 lky (D) 24 lky 

 

66. Blue revolution is related to : 

 (A) House (B) Fish production 

 (C) Cotton production (D) Milk production 

 uhyh ØkfUr lEcfU/kr gS %  
 (A) ?kj¨a ls (B) eRL; mRiknu ls 
 (C) dikl mRiknu ls (D) nqX/k mRiknu ls 
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67. Between 1950 and 1990, the world’s energy needs increased by : 

 (A) Two folds (B) Three folds 

 (C) Four folds (D) Five folds 
 o"kZ 1950 ls 1990 ds chp] fo'o ÅtkZ vko';drk c<+h % 
 (A) n¨ xquh (B) Rkhu xquh 
 (C) pkj xquh (D) ik¡p xquh 

 
68. The function of haemoglobin in body is : 

 (A) Transport of Oxygen (B) Destruction of Bacteria 

 (C) Prevention of Anaemia (D) Utilization of Iron 
 'kjhj esa gahe¨Xy¨chu dk dk;Z gS % 
 (A) vkWDlhtu dk ifjogu (B) thok.kq d¨ u"V djuk 
 (C) jDrkYirk d¨ j¨duk (D) y©g dk mi;¨x 

 
69. Among the commercial energy sources coal is accounting for : 

 (A) 5% (B) 8% 

 (C) 31% (D) 55% 
 O;kikfjd ÅtkZ Lkz®r®a esa  d¨;ys dh mi;®fxrk gS % 
 (A) 5 Áfr'kr (B) 8 Áfr'kr 

 (C) 31 Áfr'kr (D) 55 Áfr'kr 
 

70. In India, biomass (mainly wood and dung) accounts for almost ______ of the primary energy 

supply. 

 (A) 20% (B) 30% 

 (C) 40% (D) 50% 
 Òkjr esa] thoÒkj ¼eq[;r% dk"B ,oa x¨cj [kkn½ vkiwwwfrZ dqy ÁkFkfed ÅtkZ vkiwwwfrZ dk ----------Áfr'kr 

gSA 

 (A) 20  (B) 30  

 (C) 40  (D) 50  

 

71. Environment can be defined as : 

(A) The conditions that surrounds an organism or group of organisms  

(B) Relationship between human and ecosystems  

(C) Conditions of climate around us  

(D) Interaction between plants and animals 

 

     Ik;kZoj.k dks ,sls ifjHkkf"kr fd;k tk ldrk gS % 

(A) tho vFkok thoksa ds lewg ds vklikl dh ifjfLFkfr;k¡ 

(B) euq’; rFkk ikfjfLFkfrdh ds e/; lacU?k 

(C) gekjs Pkkjksa vksj dh tyok;q dh ifjfLFkfr;k¡ 

(D) ikS/kksa rFkk tkuojksa ds e/; lEcU/k 
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72. Which year was declared as International Year of Biodiversity ?   

(A) 2002  (B) 2010  

(C) 2020  (D) 1972 

     fuEu esa ls dkSu lk o"kZ varZjk"Vªh; ikfjfLFkfrdh o"kZ FkkA 

(A) 2002  (B) 2010  

         (C) 2020  (D) 1972 

 

73. Which country is reported to have highest biological diversity ? 

      (A) Eqcuador  (B) India  

      (C) Indonesia  (D) Brazil 
 
fdl ns”k esa lokZf/kd ikfjfLFkfrdh  fofo/krk  dh lwPkuk gS % 

          (A) bDosMksj (B) Hkkjr 
         (C) baMksusf”k;k  (D) czkthy 

 

74.  Which of the following is an example of lotic ecosystem ?  

        (A) Stream ecosystem         (B) Pond ecosystem  

        (C) Bog ecosystem        (D) Wetland ecosystem 
      fuEu esa ls dkSu yksfVd ikfjfLFkfrdh dk ,d mnkgj.k gS \ 

         (A) /kkjk  ikfjfLFkfrdh (B) rkykc ikfjfLFkfrdh 

         (C) nynyh; ikfjfLFkfrdh (D) vknzZHkwfe ikfjfLFkfrdh 

 

75. Environmental justice is : 
        (A) Implementation of conservation policies in forest areas  
        (B) Sustainable development of tribal population living in the forests  
        (C) Civil rights with environmental protection to demand a safe and healthy environment for all  
        (D) Conflicts resolution between people and conservationists 

    Ik;kZoj.kh; U;k; gS % 

(A) Oku {ks=ksa esa laj{k.k dh uhfr dk dk;kZUo;u  

(B) Okuksa esa jgus okyh tutkrh; tula[;k dk lrr fodkl 

(C) lHkh ds fy, lqjf{kr Ik;kZoj.k gsrq ukxfjd vf/kdkj  

(D) ukxfjd rFkk laj{k.kokfn;ksa ds la?k’kks± dk lek/kku 

76. Which of the following parameters is not a good indicator of contamination of ground water ?  

       (A) BOD  (B) Nitrates  
       (C) Silica  (D) Chlorides 
    fuEu esa ls dkSu Hkw ty dk ,d vPNk lwPkd ugha gS \ 

(A) BOD (B) ukbVªsV 

(C) flfydk (D) DyksjkbM 
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77. Potential energy is : 

      (A) Ability to do work  

      (B) Stored in food that we eat 

      (C) Stored energy that is latent but available for use 

      (D) The energy contained in moving object 

    fLFfrt ÅtkZ  gS % 

(A) dk;Z djus dh {kerk 

(B) [kkus dh oLrq esa lajf{kr  

(C) xqIr lajf{kr ÅtkZ tks lHkh ds fy, gSA 

(D) xfreku oLrq esa lajf{kr ÅtkZ 

78. Which state of Cr (Chromium) is most toxic ? 

      (A) Cr
4+

  (B) Cr
3+

  

      (C) Cr
5+

  (D) Cr
6+

 

 
    Øksfe;e dh dkSu lh ifjfLFkfr;k¡ fo"kSyh ugha gS \  

      (A) Cr
4+

  (B) Cr
3+

  

      (C) Cr
5+

  (D) Cr
6+

 
 

79. Which one of the following does not contribute to climatic change ?  

       (A) NO  (B) O3  

       (C) SF6  (D) HFCs 
 

     Tkyok;q ifjoZru esa fdldk ;ksxnku ugha gS \ 

        (A) NO  (B) O3  

        (C) SF6  (D) HFCs 

 

80. In a typical municipal solid waste, least percentage of ash is found in :  

      (A) Textiles (B) Plastic 

       (C) Leather  (D) Rubber 
 

     uxjikfydk ds Bksl dwM+s esa jk[k dh U;wure ek=k fdlesa gksrh gS \ 

      (A) drju (B) IykfLVd 

      (C) peM+k  (D) jcj 
 

 

 


